Bid #BLD2125144Q1 - Mosquito Control Chemicals - Adapco

Start Date Nov 7, 2022 2:47:52 PM EST Awarded Date Not Yet Awarded

BLD2125144Q1-01-01 Group 1: Dibrom 14					
Supplier	Unit Price		Total Price	Attch.	Docs
ADAPCO, LLC [Ad]	First Offer - \$8,044.20	10 / each	\$80,442.00	Υ	Υ
ADAPCO, LLC [Ad] Product Code: Agency Notes:		10 / each Supplier Product Cod Supplier Notes: \$268.	e: D I B-30	Y	Y

BLD2125144Q101-02 Group 1: Fyfanon EW Insecticide							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$2,048.10	10 / drum	\$20,481.00	Υ	Y			
	Supplier Product Code	e: FYFEW-30					
	Supplier Notes: \$68.27	7/g l (30g l drum)					
	Unit Price First Offer - \$2,048.10	Unit Price Qty/Unit First Offer - \$2,048.10 10 / drum Supplier Product Code	Unit Price Qty/Unit Total Price	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$2,048.1010 / drum\$20,481.00YSupplier Product Code: FYFEW-30			

County Comm	issioners	Page 2 of 7

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ADAPCO, LLC [Ad]	First Offer - \$1,186.40	50 / each	\$59,320.00	Υ	Υ	
Product Code: Agency Notes:			pplier Product Code: MTLP-40 pplier Notes: \$29.66/lb (40lb bag)			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ADAPCO, LLC [Ad]	First Offer - \$1,816.00	50 / case	\$90,800.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: MTLXRP-800 Supplier Notes: \$1,816.00 per case of 800 Extended Releas Soluble Pouches			

BLD2125144Q101-05 Group 1: Ramp Dengue Test								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ADAPCO, LLC [Ad]	First Offer - \$2,066.30	2 / case	\$4,132.60	Υ	Υ			
Product Code:		Supplier Product Code	r Product Code: E1102					
Agency Notes:		Supplier Notes:						

BLD2125144Q1–01-06 Group 1: Ramp West Nile Virus Test								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ADAPCO, LLC [Ad]	First Offer - \$2,123.90	1 / case	\$2,123.90	Υ	Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e: E1101					
Agency Notes.		supplier Notes:						

BLD2125144Q101-07 Group 1: Vectobac 12AS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ADAPCO, LLC [Ad]	First Offer - \$182.00	100 / case	\$18,200.00	Υ	Υ			
Product Code:		Supplier Product Code	: VEC12AS-2x2.5					
Agency Notes:		Supplier Notes: \$36.40)/gl (2x2.5gl case					

BLD2125144Q101-08 Group 1:	Vectobac G					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ADAPCO, LLC [Ad]		First Offer - \$71.60	50 / each	\$3,580.00	Υ	Υ
Product Code:			Supplier Product Code	: VECG-40		
Agency Notes:			Supplier Notes: \$1.79/	l b (40lb bag)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ADAPCO, LLC [Ad]	First Offer - \$888.75	100 / drum	\$88,875.00	Υ	Υ
Product Code:		Supplier Product Code:	VECWDG-25		
Agency Notes:		Supplier Notes: \$35.55/ll	b (25lb drum)		

BLD2125144Q101-11 Group 1: Vectobac W	DG				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ADAPCO, LLC [Ad]	First Offer - \$863.75	475 / drum	\$410,281.25	Υ	Υ
Product Code:		Supplier Product Code	: VECWDG-25		
Agency Notes:		Supplier Notes: \$34.55	/lb (25lb drum)		

BLD2125144Q101-12 Group 1: Vectobac WDG								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ADAPCO, LLC [Ad]	First Offer - \$829.20	50 / case	\$41,460.00	Υ	Υ			
Product Code:		Supplier Product Code	: VECWDG-24					
Agency Notes:		Supplier Notes: \$34.55	5/lb (24x1lb case)					

BLD2125144Q101-13 Group 1: Vetolex WSP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ADAPCO, LLC [Ad]	First Offer - \$774.48	50 / case	\$38,724.00	Υ	Υ	
Product Code:		Supplier Product Code: VLXWSP-800				
Agency Notes:		Supplier Notes:				

BLD2125144Q101-14 Group 1: Vectomax FG						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ADAPCO, LLC [Ad]	First Offer - \$360.00	50 / each	\$18,000.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: \$9.00/				

BLD2125144Q101-15 Group 1: Vectomax WSP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ADAPCO, LLC [Ad]	First Offer - \$1,295.00	50 / case	\$64,750.00	Υ	Υ	
Product Code: Supplier Product Code: VMXWSP-800						
Agency Notes:		Supplier Notes:				

BLD2125144Q101-16 Group 1: Vectoprime FG						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ADAPCO, LLC [Ad]	First Offer - \$162.80	50 / each	\$8,140.00	Υ	Υ	
Product Code:		Supplier Product Code: VPRFG-40				
Agency Notes:	Supplier Notes: \$4.07/lb (40lb bag)					

Supplier Totals

f ADAPCO, LL	C [Ad]	\$997,934.75 (16/16 items)	
Bid Contact	Kathy Russell krussell@myadapco.com Ph 407-328-6519	Address 100 Colonial Center Parkway Suite 170 Lake Mary, FL 32746	
Supplier Code	VC0000026426		
Bid Notes	Thank you for the opportunity to provide ADAPCO 2023 price Kathy Russell	ces.	
	aes.vectorbids@azelis.com or bids@myadapco.com		
Agency Notes:		Supplier Notes: Thank you for the opportunity to provide ADAPCO 2023 prices.	Head Attch:

Kathy Russell aes.vectorbids@azelis.com or bids@myadapco.com

**